
Wheel Well Toolbox

Tools Required:
Outils Necessaires: 3/8“

7/16“

CB

Wheel  Well  Toolbox 
DZ  94 /  DZ  95 

Installation  Instructions

A
Left Mounting Bracket Right Mounting Bracket

X1 X1 X1
D

Hinged Panel

X1

E
Angle Support

X2

F

X2

G

X2

Dual-Lock Tape

Roll of Foam
Tape

I

X4

J K L

X8 X14 X14

1/4 x 1“ Black
Sheet Metal
Screw

1/4 x 3/4“ Black
Hex Head Bolt

1/4“ Black Flat
Washer

1/4“ Black
Hex Nut

M
1/4 x 1“ Ribneck
Carriage Head Bolt

X6

X5

H
#8 X 1/2“ Phillips
Head Screw

5/32“
3/16“
1/4“

N

Foam Tape

X1

Note: Some adjustment may be needed to the latch catch assembly in the body of this wheel well toolbox. You
may have to pull out on the body of the toolbox where the latch catch is located to get the latch to work properly
when you first receive this wheel well toolbox due to problems that arrise during shipping. If you choose to install
the hinged panel (D) then proceed with Step 1 of this instruction. If you choose to not install the hinged panel, then
proceed to Step 6.

http://www.carid.com/dee-zee/
http://www.carid.com/bed-accessories.html


1

Use the angle support (E) as a guide to mark the hole locations on wheel well toolbox (A) as shown
below. You can place the angle support (E) up to the outside of wheel well toolbox (A) as shown
below and then pre-drill the holes through the angle support (E) and the wheel well toolbox (A).

Place foam tape (N) onto the top of angle support (E) as shown below. Cut the foam
tape (N) so that it is flush with the ends of angle support (E) as shown below.

E

N

2

1/4“

E

A



E

A

3
Place the angle supports (E) into the wheel well toolbox (A) and secure them into place
using 1/4 x 1“ ribneck carriage head bolts (M), 1/4” flat washers (K), and 1/4” hex nuts (L) as
shown. Tighten into place using a 7/16“ wrench / or socket.

7/16“

M

M

4

A

D

Place the hinged panel assembly (D) into the wheel well toolbox (A) so that it sits on top of the
angled supports (E). Press the hinged panel (D) firmly down against the angle supports (E) and
use the existing holes in the hinged panel assembly to drill 5/32“ holes down through the angle
supports (E). Secure the hinged panel assembly (D) to the angle supports (E) using #8 x 1/2“
phillips head screw (H). Tighten into place using a phillips head screwdriver until snug.

5/32“

A

Phillips
Screwdriver

A

H



7
Place foam gasket (G) onto the bottom of wheel well
toolbox (A). Trim foam gasket (G) flush with the ends
of wheel well toolbox (A).

G

A

Peel backing off of foam tape (G). G
6

5

A

F

Place dual lock tape (F) onto the hinged panel (D) and wheel well toolbox (A). This dual lock tape (F)
will keep the hinged panel (D) in the upright position when not in use.



8
Place the wheel well toolbox (A) into the truck bed so that the angled part of the wheel well toolbox
(A) is snug up against the angle part of the wheel well of the vehicle. The left and right mounting
brackets (B / C) should be placed so that the mounting bracket flange with the two holes is up
against the inside lip of the bed rail. The mounting bracket flange with the four holes should be
placed up against the outer edges of the wheel well toolbox (A) as shown below. Mark the hole
locations from mounting brackets (B / C) on the inside lip of the bed rail and on the outside of wheel
well toolbox (A). Note: See Steps 13 - 16 for mounting bracket (C) installation on 1994 - Current
Dodge Ram Pickup beds.

Mounting bracket flange
should face towards each
other.

A

B

C



9

1/4“
Remove the wheel well toolbox (A) from the vehicle bed and then use the marked
hole locations as a guide to drill a 1/4“ hole through the inside lip of the bed rail
as shown below. Note: See Step 13 - 16 for mounting bracket (C) installation on
1994 - Current Dodge Ram Pickup beds.

B

C

10

B

C

Bedrail

J
L

K

B

J

C

K L

Bedrail

Secure mounting brackets (B / C) to the inside of the vehicle bed rail using 1/4 x
3/4“ hex head bolts (J), 1/4“ flat washers (K), and 1/4” hex nuts (L) as shown below.
Tighten into place using a 7/16” wrench / or socket. Note: See Steps 13 - 16 for
mounting bracket (C) installation on 1994 - Current Dodge Ram Pickup beds.

7/16“



1/4“

11
Place the wheel well toolbox (A) back into the vehicle truck bed inside of
mounting brackets (B / C) as shown below. Use the existing holes in mounting
brackets (B / C) as a guide to drill two 1/4“ holes through the outside of the wheel
well toolbox (A). Note: See Steps 13 - 16 for mounting bracket (C) installation on
1994 - Current Dodge Ram Pickup beds.

J

12

A
B

C

Secure mounting brackets (B / C) to the outside of the wheel well toolbox (A) using
1/4 x 3/4“ sheet metal screws (J), 1/4“ flat washers (K), and 1/4” hex nuts (L) as
shown below. Tighten into place using a 7/16“ wrench / or socket. Note: See
Steps 13 - 16 for mounting bracket (C) installation on 1994 - Current Dodge Ram
Pickup beds.

7/16“

B

A C



13

B

A
C

Mounting bracket (C) installation - (1994 - Current) Dodge Ram Pickup beds:
Place mounting bracket (C) up to the wheel well toolbox (A) and the inside edge
of the vehicle stake pocket sheet metal as shown below. Use the holes in
mounting bracket (C) as a guide to drill 1/4“ holes through the outside of wheel
well box (A).

1/4“

Stake Pocket
Sheet Metal

14

B

A
C

Stake Pocket
Sheet Metal

J

Mounting bracket (C) installation - (1994 - Current) Dodge Ram Pickup beds:
Secure mounting bracket (C) to the outside of the wheel well toolbox (A) using 1/4
x 3/4“ sheet metal screws (J), 1/4“ flat washers (K), and 1/4” hex nuts (L) as shown
below. Tighten into place using a 7/16“ wrench / or socket.

7/16“



15

B

A
C

Stake Pocket
Sheet Metal

3/16“

3/8“

Mounting bracket (C) installation - (1994 - Current) Dodge Ram Pickup beds:
Use the existing holes in mounting bracket (C) as a guide to drill 3/16“ holes
through the stake pocket sheet metal as shown below.

16

B

A
C

Stake Pocket
Sheet Metal

I

Mounting bracket (C) installation - (1994 - Current) Dodge Ram Pickup beds:
Secure mounting bracket (C) to the stake pocket sheet metal using 1/4 x 1“ black
sheet metal screws (I) as shown below. Tighten into place using a 3/8“ wrench / or
socket.




